
 

 

Lossnay Weatherproof Housing 

Installation Manual 
 

Instructions for :- 

KS4-KWH150   to fit Mitsubishi Electric Lossnay LGH-150RX5 

KS4-KWH200  to fit Mitsubishi Electric Lossnay LGH-200RX5 

 

For safe and correct use please read this installation manual and use in conjunction with the 
Lossnay installation manual supplied by Mitsubishi Electric. 

Issue 1 

Manufactured on behalf of  
MITSUBISHI ELECTRIC UK 

  



Page 

3  Safety precautions 

4  Application and specifications 

5  Exploded view 

6 - 9  Installation instructions 

10  Access to filter, core and electrical panel 

  Contents 
Lossnay Weatherproof Housing / 150 - 200 

2 



  Safety precautions 
Lossnay Weatherproof Housing / 150 - 200 

Before installing the unit, make sure you read all the “Safety precautions”. The “Safety precautions” provided are very important 
points regarding safety. Make sure you follow them. 

 Warning:  Carefully read the labels affixed to the main unit. 

Symbols used in the text 

  Warning: Describes precautions that should be observed to prevent danger of injury or death to the user.                      
 Caution: Describes precautions that should be observed to prevent damage to the unit. 

   Warning:  

 Ask the dealer or an authorised technician to install the unit.                                                                              
 Improper installation by the user may result in water leakage, electric shock, or fire. 

 Use the specified cables for wiring. Make the connections securely so that any outside forces acting  
 on the cables are not applied to the terminals. Inadequate connection and fastening may generate heat 
 and cause a fire. 

 Never repair the unit. If the controller must be repaired, consult the dealer.                                                                  
 If the unit is repaired improperly, electric shock, or fire may result. 

 When handling this product, always wear protective equipment. EG: Gloves, full arm protection namely boiler suit, 
 and safety glasses. Improper handling may result in injury. 

 Have all electric work done by a licensed electrician according to "Electric Facility Engineering      
 Standard", "Interior Wire Regulations" and the instructions given in this manual and always use a     
 special circuit. 

 If the power source capacity is inadequate or electric work is performed im­properly, electric shock and fire 
 may result. 

  Before installation and electric work 

 Caution: 

 Do not install the unit where combustible gas may leak. If the gas leaks and accumulates around the unit, an explosion 
 may result. 

 Caution: 

 Ground the unit.                                                                                                                                    
 Do not connect the ground wire to gas or water pipes, lightning rods, or telephone ground lines. Improper grounding may 
 result in  electric shock. 

 Be very careful regarding product transportation.                                                                                                              
 Two people should be used to carry products of 20kg or more.  

 Some products use PP bands for packaging. Do not use any PP bands for a means of transportation. 

 Safely dispose of the packing materials.                                                                                                                 
 Packing materials, such as nails and other metal or wooden parts, may cause stabs or other injuries.                                

  Before installation 

  Disclaimer 

 Warranty: 

 All products manufactured on behalf of Mitsubishi Electric UK are warranted against defective materials for a period of three           
 years from the date of delivery to the original purchaser. 

3 

 Warning: 

 Mitsubishi Electric UK assumes no liability for damages consequent to the user of this product. We reserve the right to 
 change this manual at any time without notice. The information furnished by us is believed to be accurate and reliable. How        
 ever, no responsibility is assumed by us for its use, nor for any infringements of patents or other rights of third parties           



It is advised that where possible the Lossnay unit and housing should be installed in an area    
sheltered from the wind. Preferably the unit should be mounted on a suitable, level support so that 
the bottom of the air inlet grille is at least 300mm above floor level.  

Ducting connected to the Supply Air and Return Air should be fully insulated to ensure maximum 
efficiency from the Lossnay Heat Exchanger. 

Sufficient space should be allowed to enable access to the service access panel and the           
serviceable parts within. 

  Application  
Lossnay Weatherproof Housing / 150 - 200 

  Specification 

Model Lossnay Unit A (mm) B (mm) C (mm) Weight kg IP Rating 

KS4-KWH 150 LGH 150RX5 1141 1164 847 51 IP43 

KS4-KWH 200 LGH 200RX5 1367 1166 847 56 IP43 

A  B 

C 



Weatherproof Lossnay Housing - Assembly Instructions 

  Exploded view and parts list 

Lossnay Weatherproof Housing / 150 - 200 

OA - Outside Air 

EA - Exhaust Air 

SA - Supply Air 

RA - Return Air 

5 



Carefully remove all housing parts from the 
packaging and place the base assembly      
consisting of parts   8    9  16  17   on a flat    
surface.  

This is particularly important when assembling 
the larger housings 150 / 200 to ensure that all 
panels and fixing holes line up correctly. 

Lossnay Weatherproof Housing / 150 - 200 

Weatherproof Lossnay Housing - Assembly Instructions 

① 

② Remove duct plenums from Lossnay unit and fit 
following Mitsubishi Electric instructions. 

     

Place the Lossnay square on the base       
assembly with the electric box at the same 
side as the rubber grommets. 

③ 

 

6 



Only remove the transport / hanging brackets from the 
side of the Lossnay unit opposite from electrical access 
box. 

Remove the outdoor flanges supplied with the Lossnay 
unit. These are not required for use with the weatherproof 
housing. 

Fit the outdoor grille louvres   2   supplied with the          
weatherproof housing to the OA & EA side of the 
Lossnay. 

Ensure that the louvres are installed in a downward 
direction to protect the unit from water ingress. 

Lossnay Weatherproof Housing / 150 - 200 

Weatherproof Lossnay Housing - Assembly Instructions 

 

④ 

⑤ 

⑥ 

7 



Align the back panel   7   to the Lossnay unit and 
fit using 3 x M6 X 12 set screws  12  

 

 

 

   

Align the indoor panel   6   to the Lossnay unit 
and fit using 3 x M6 X 12 set screws 12  Repeat 
this procedure for fitting the OA and EA panel   3    

Correct fitting of these two panels is essential to 
enable easier installation of the back and front 
panel and the door panel. 

 

 

 

Fix the indoor   6    and outdoor   3    panels to the back panel 
using M4 X 25 set screws   11   and 4 nylon washers  14 

 

   

Offer up the front panel   4   to the Lossnay unit and fit  
using 2 x M6 X 12 set screws  12  at the base and   
2 x M4 X 25 set screws  11  and 2 x nylon washers   14    
to secure to the outdoor panel   3 
 

 

 

 

 

Lossnay Weatherproof Housing / 150 - 200 

Weatherproof Lossnay Housing - Assembly Instructions 

⑧ 

⑨ 

⑩ 

⑪ 

8 



 

 

Place the top cover   1   over the housing panels 
and fix  using M4 X 16 set screws   13   and nylon 
washers  14     

 

 

 

 

 

 

Slide the door panel   5    up under the top cover 
and  fix  using 3 x M6 X 12 set screws   12   at the 
base and 4 x M4 X 25 set screws   11  and           
4 x nylon washers  14    at the sides.  A single   
M4 X 16 set screw    13   fixes the door to the top 
cover. 

The Lossnay and weatherproof housing is now 
complete for final installation. 

Lossnay Weatherproof Housing / 150 - 200 

Weatherproof Lossnay Housing - Assembly Instructions 

⑫ 

⑬ 

⑭ 
It is advised that the Lossnay unit and housing 
should be securely mounted on a suitable  
support to minimise vibration and movement 
and to ensure that the bottom of the air inlet 
spigot is at least 300mm above floor level. 

9 



To access the electrical panel remove the screws 
from around the door panel. 
Take care to support the panel by the handle to 
prevent it from dropping free. 

Slide the panel down and away to expose access 
to the Lossnay services. 

Care should be taken to protect the services area 
from moisture ingress. 

Access to filter, core and electrical panel 

Lossnay Weatherproof Housing / 150 - 200 

Weatherproof Lossnay Housing - Assembly Instructions 

① 

② 

10 



Please be sure to put the contact address/telephone number  

on this manual before handing it to the customer.   

MITSUBISHI ELECTRIC UK  
MITSUBISHI ELECTRIC UK, TRAVELLERS LANE, HATFIELD, HERTFORDSHIRE, AL10 8XB  

11 


	  Before installation



<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Error

  /CompatibilityLevel 1.4

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.0000

  /ColorConversionStrategy /CMYK

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams false

  /MaxSubsetPct 100

  /Optimize true

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness true

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages true

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages true

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages true

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile ()

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<



    /BGR <>

    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>

    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>

    /CZE <>

    /DAN <>

    /DEU <>

    /ESP <>

    /ETI <>

    /FRA <>

    /GRE <>



    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)

    /HUN <>

    /ITA <>

    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>

    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>

    /LTH <>

    /LVI <>

    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)

    /NOR <>

    /POL <>

    /PTB <>

    /RUM <>

    /RUS <>

    /SKY <>

    /SLV <>

    /SUO <>

    /SVE <>

    /TUR <>

    /UKR <>

    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /ConvertColors /ConvertToCMYK

      /DestinationProfileName ()

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [612.000 792.000]

>> setpagedevice



